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1.) Löse diese Aufgaben indem du zuerst die Zehner, dann die Einer multiplizierst.

3 • 14 = ____


7 • 15 = ____

      9 • 13 = ____

	•
	10
	4
	

	3
	
	
	__


8 • 16 = ____

	•
	10
	6
	

	8
	
	
	__


	•
	10
	5
	

	7
	
	
	__


5 • 12 = ____

	•
	10
	2
	

	5
	
	
	__


	•
	10
	3
	

	9
	
	
	__


6 • 17 = ____

	•
	10
	7
	

	6
	
	
	__



2.) Reih auf – Reih ab.

	14er-Reihe
	14
	28
	
	
	
	
	
	
	
	

	4er-Reihe
	4
	8
	
	
	
	
	
	
	
	

	Unterschied
	10
	20
	
	
	
	
	
	
	
	


	16er-Reihe
	16
	32
	
	
	
	
	
	
	
	

	6er-Reihe
	6
	12
	
	
	
	
	
	
	
	

	Unterschied
	10
	20
	
	
	
	
	
	
	
	


	12er-Reihe
	12
	24
	
	
	
	
	
	
	
	

	2er-Reihe
	2
	4
	
	
	
	
	
	
	
	

	Unterschied
	10
	20
	
	
	
	
	
	
	
	


	15er-Reihe
	15
	30
	
	
	
	
	
	
	
	

	5er-Reihe
	5
	10
	
	
	
	
	
	
	
	

	Unterschied
	10
	20
	
	
	
	
	
	
	
	























































































































